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TRANSLATION OFFICER EXAM (18.08.18)  
 

   SUBJECTWISE ANALYSIS & CATEGORIZATION OF QUESTIONS 

 

POLITY 
 

1. Match the following and choose the correct answer. 
Chief Justice of India   Tenure  

 A. Harilal Kania    1. 1966-1966 
B. A.K. Sankar    2. 1950-1951 
C. M.C. Mahajan    3. 1956-1959 
D. S.R. Das     4. 1954-1954 

A B C D 
a. 2 1 4 3  
b. 4 2 1 3  
c. 3 4 2 1  
d. 1 2 3 4 
fPo;fz;ltw;iw nghUj;jp rhpahd tpilia vOJf.  
 jiyik ePjpgjp    gjtp fhyk;  
A. `hpyhy; fd;dpa    1. 1966 – 1966 
B. V.Nf. rq;fh;    2. 1950 – 1951 
C. vk;.rp. kfh[d;    3. 1956 – 1959 
D. v];.Mh;. jh];    4. 1954 – 1954 

A B C D 
a. 2 1 4 3  
b. 4 2 1 3  
c. 3 4 2 1  
d. 1 2 3 4 

 
2. Who is the first law officer of the Government of India? 

a. Chief Justice of India    b. Union Law Minister 
c. Attorney General of India         d. Union Law Secretary 



 

2 
 

 
,e;jpa murpd; Kjd;ik rl;l mjpfhhp ahh;?  
a. cr;r ePjpkd;w jiyik ePjpgjp    

b. kj;jpa rl;l mikr;rh;  
c. ,e;jpa jiyik toq;fwpQh;   

d. kj;jpa murpd; rl;l nrayhsh;  
 

3. Who propounded the concept of 'Rule of Law'? 
a. A.V. Dicey         b. Lord Bryce 
c. K.C. Wheare     d. Ivor Jennings 
‘rl;lj;jpd; Ml;rp’ Nfhl;ghl;bid Kd;nkhope;jth; ahh;?  

a. A.V. ilrp   b. gpiu]; gpuG  
c. K.C. tpah;    d. Ith; n[d;dpq;];  

 
4.  The public undertaking committee was created on the recommendation by 

 a. Santhanam Committee      b. JVP Committee 
c. Krishna Menon Committee       d. Swaminathan Committee 
nghJ epWtdq;fs; FO ahUila ghpe;Jiuapd; mbg;gilapy; 
Njhw;Wtpf;fg;gl;lJ? 
a. re;jhdk; FO   b. JVP FO  
c. fpU~;zNkdd; FO  d. Rthkpehjd; FO  
 

5. Which of the following Amendment provides for amending first schedule that 
deals with acquisition of certain territories of India - Bangladesh by a mutual 
agreement? 
a. 95th Amendment  b. 98th Amendment  
c. 100th Amendment  d. 102nd Amendment 
,e;jpah tq;fhs Njrk; ,ilNaahd ,Ujug;G xg;ge;jj;jpd; %ykhf mjd; rpy 
gFjpfis ,e;jpahTld; ,izf;Fk; tifapy; KjyhtJ ml;ltizapy; 
khw;wk; nra;a nfhz;L tug;gl;l murpayikg;G rl;ljpUj;jk; vJ?  
a. 95tJ rl;ljpUj;jk;   b. 98tJ rl;ljpUj;jk;  
c. 100tJ rl;ljpUjk;    d. 102tJ rl;ljpUj;jk; 
 

6. Which part of the constitution deals with Directive Principles of the State 
Policy.  
a. Part III    b. Part IV  c. Part lV-A   d. Part II 
murpayikg;gpd; ve;j gFjpapy; murpd; topfhl;L newpKiwf; nfhs;if 
cs;sJ?  
a. gFjp III  b. gFjp IV   c. gFjp IV-A d. gFjp II  

 
7.  Prior to the ______ any or all of the fundamental rights could be suspended. 

a. 42nd Amendment   b. 1st Amendment 
c. 73rd Amendment  d. 44th Amendment 
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_____ rl;lj;jpUj;jj;jpw;F Kd;dhy; mbg;gil chpikfspd; xU gFjp my;yJ 
midj;J mbg;gil chpikfSk; jw;fhypfkhf nra;ag;gl top ,Ue;jJ.  
a. 42-tJ rl;lj;jpUj;jk;  b. 1-tJ rl;lj;jpUj;jk;  
c. 73-tJ rl;lj;jpUj;jk;  d. 44-tJ rl;lj;jpUj;jk;  

 
8. The minimum strength of the State Legislative Assembly is  

a. 40   b. 50   c. 60     d. 70 
 khepy rl;lg; Nguitapd; Fiwe;j gl;r cWg;gpdh;fspd; vz;zpf;if  

a. 40   b. 50   c. 60     d. 70 
 

ZOOLGOY 
 

9. Which gas has not been transported by blood? 
a. oxygen        b. carbon-di-oxide 
c. oxygen and carbon-di-oxide     d. nitrogen 
,uj;jj;jhy; flj;jg;glhj xU thA vJ?  
a. Mf;rp[d;     b. fhpakpy thA  
c. Mf;rp[d; kw;Wk; fhpakpy thA   d. iel;u[d;  

 
10. When a mature egg leaves the ovary, it enters in the  

a. Oviduct       b. Follicle 
c. Endometrium      d. Interstitial cells 
mz;lfj;jpypUe;J Kjph;e;j Kl;il ntspNaWk; NghJ mit ______ y; 
EiofpwJ  
a. xyplf;l;    b. ghypfps;  
c. vz;Nlhnkl;hpak;   d. ,d;lh;rPrpay; nry;  
 

11. Gene map can be constructed on the basis of the study of the following 
a. Seggregation    b. Dominance 
c. Percentage of crossing over  d. Independent assortment 
kugZ tiuglk; jahhpf;f fPo;f;fzltw;Ws; ve;j Kiw gad;gLfpwJ?  
a. jdpj;J gphpjy;    b. Xq;F gz;G 
c. FWf;nfjph; khw;w rjtPjk;  d. rhh;gpd;wp xJq;Fjy;  

 
12. Linkage is 

a. Directly related to crossing over   b. Same as translocation 
c. Inversely related to crossing over  d. Opposite to segregation 

 gpizg;G vdg;gLtJ  
 a. FWf;nfjph; khw;wj;Jld; Neh;kiw njhlh;GilaJ 
 b. ,lk; khWjy; Nghd;wJ 
 c. FWf;nfjph; khw;wj;Jld; vjph;kiw njhlh;GilaJ 
 d. ghFghl;bw;F vjpuhdJ  
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13.  Which one of the following is not a communicable disease? 
a. Zika     b. STP  c. Ebola     d. Cataracts 

 fPNo nfhLf;fg;gl;Ls;sitfspy; vJ guth Neha;f;F cjhuzk;?  
 a. rpfh Neha;  b. v];.b.gp  c. vNghyh  d. fz;Giu 
 
14. The fungus, neurospora has  been extensively used as an experimental 

material in the study of 
a. physiology    b. pathology 
c. cytology     d. genetics 
epA+Nuh];Nghuh G+Q;irahdJ> ve;j gbg;gpw;F Ma;T nghUshf mjpf mstpy; 
gad;gLfpwJ?  
a. cly; nraypay;   b. Nehapay;  
c. nry;ypay;    d. kugpay;  
 

15. The disease characterized by high levels sugar in blood and urine due to 
inadequate supply of insulin in body is 
a. Peptic ulcer        b. Diverticulosis 
c. Obesity      d. Diabetes 
clypy; NghJkhd msT ,d;Rypd; ,y;yhikahy; ,uj;jk; kw;Wk; rpWePhpy; 
mjpfsT rh;f;fiu fhzg;gLtJ ,e;Nehapd; FzkhFk;.  
a. tapw;Wg;Gz;    b. ilth;bFNshrp]; 
c. cly; gUkd;   d. ePhpopT  

 
 

TAMIL NADU AFFAIRS  
 
16. How many districts the Tamil Nadu Government planned to implement a 

project on "Supply Chain Management of Fruits, Vegetables and other 
Perishables"? 
a. 7   b. 8  c. 9   d. 10 
“goq;fs;> fha;fwpfs; kw;Wk; mOFk; nghUl;fs; toq;fy; rq;fpyp Nkyhz;ik” 
jpl;lk;> jkpofj;jpy; vj;jid khtl;lq;sfpy; eilKiw gLj;jg;gLfpwJ?  
a. 7   b. 8  c. 9   d. 10 

 
17. In Tamil Nadu the retirement age of the Government employee was increased 

from 55 to 58 years by the Chief Minister 
a. K. Kamaraj   b. C.N. Annadurai 
c. M. Karunanithi   d. M.G. Ramachandran 
jkpofj;jpy; muR Copah;fspd; xa;T taij 55-ypUe;J 58-Mf cah;j;jpa 
Kjyikr;rh;  
a. F. fhkuh[;   b. rp.vd;. mz;zhJiu 
c. K. fUzhepjp   d. vk;.[p. ,uhkr;re;jpud;  
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18. Indira Gandhi National Park is located in 
a. Kerala  b. Sikkim c. Bihar                d. Tamil Nadu 

 ,e;jpuh fhe;jp Njrpa G+q;fh mike;Js;s ,lk;  
 a. Nfush  b. rpf;fpk;  c. gPfhh;  d. jkpo;ehL  

 
PHYSICS 

 
19. In which year, X-rays was invented? (12TH std) 

a. 1895    b. 1899  c. 1905   d. 1925 
vf;]; fjph;fs; ve;j Mz;L fz;Lgpbf;fg;gl;lJ?  
a. 1895    b. 1899  c. 1905   d. 1925 

 
20. Identify the pairs of longer and shortest waves in terms of wavelength? (12TH 

std) 
a. Radiowaves, Gamma rays 
b. Infrared waves, Gamma rays 
c. Gamma rays, X-rays 
d. UV waves, Infrared waves 
gpd;tUk; ,izapy; mjpf kw;Wk; Fiwe;j miyePsq;fis nfhz;l miyfs;  
a. NubNah miyfs;> fhkh fjph;fs;  
b. mfr;rptg;G miyfs;> fhkh fjph;fs;  
c. fhkh fjph;fs;> X-fjph;fs;  
d. UV miyfs;> mfr;rptg;G miyfs;  
 

21. Which of the following has the least specific charge?  
a. electron   b. proton  c. α-particle    d. β-particle 
fPNo jug;gl;Ls;stw;wpy; vJ Fiwthd kpd;D}l;l epiyj;jftpidf; 
nfhz;Ls;sJ?  
a. vyf;l;uhd;  b. GNuhl;lhd; c. α - Jfs; d. β-Jfs;  
 

22.  The operating frequency of a Wien bridge oscillator is given by  

a. 
1

2 LCπ

  b. 
1

4 LCπ

  c. 
1

2 RCπ

  d. 
1

29RC
 

tpad; ghy miyapaw;wpapd; nray;tif mjph;ntz;Zf;fhd rkd;ghL  
 

23.  If the source is kept at infinity, the shape of the wave front will be 
a. spherical   b. cylindrical  c. elliptical   d. plane 
<wpyhj; njhiytpy; itf;fg;gl;Ls;s xsp %yj;jpy; ngwg;gLk; miyKfg;gpd; 
tbtk;  
a. Nfhstbkhdk;  b. cUis  c. ePs;tl;lk;  d. rkjsk;  
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MODERN INDIA  
 

24. During whose period the Charter Act of 1793 was passed?- 
a.  Sir John Shore     b. Lord Wellesely 
c. Lord Cornwallis      d. Warren Hastings 
1793-Mk; Mz;L gl;lar; rl;lk; ahUila fhyj;jpy; epiwNtw;wg;gl;lJ?  
a. rh; [hd; N~hh;   b. nty;ny];yp gpuG  
c. fhud;thyp]; gpuG    d. thud; n`];bq;];  

 
25. Who was Gandhiji’s private Secretary?  

a. Patwardhan     b. C.R. Das 
c. Mahadev Desai   d. Balarama Krishna 
fhe;jp[papd; me;juq;f nrayh; ahh;?  
a. gl;th;jd;    b. C.R. jh]; 
c. kfhNjt; Njrha;  d. gyuhk; fpU~;zh 

 
26.  Who was the author of Broken Wing?  

a. Sarojini Naidu    b. Vijayalakshmi Pandit 
c. Aruna Asaf Ali    d. Annie Besant 
cile;j rpwFfspd; Mrprhpah; ahh;?  
a. rNuh[pdp ehAL    b. tp[anyl;Rkp gz;bl;  
c. mUzh Mrg; myp   d. md;dp ngrd;l;  

 
27. The  British Prime Minister Mac Donald announced the communal award  

which provided separate electorate for the ______. 
a. Land Lords    b. Scheduled Castes 
c. Workers     d. Peasants 
gphpl;b~; gpujk ke;jphp kf;Nlhdhy;L mwptpj;j ,d xJf;fPl;L Kiw ahUf;F 
jdpj;njhFjpapid toq;fpaJ?  
a. epyr; Rthd;jhh;fs;    b. jho;j;jg;gl;l tFg;gpdh;  
c. njhopyhsh;fs;    d. tptrhapfs;  

 
28. Who was the first woman president of the Indian National congress?  

a. Annie Besant    b. Sarojini Naidu 
c. Sucheta Kripalani      d. Rajkumari Amrit Kaur 
,e;jpa Njrpa fhq;fpurpd; Kjy; ngz; jiyth; ahh;?  
a. md;dpngrd;l;   b. rNuh[pdp ehAL 
c. Rrpj;jh fpUghsdp  d. uh[Fkhhp mkph;jnfsh;  

 
29. In whose period Post Office Act 1854 was passed?  

a. Lord Canning     b. Lord Elgin 
c. Lord Mayo    d. Lord Dalhousie  
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1854 Mk; Mz;L jghy; mYtyfr; rl;lk; ahUila fhyj;jpy; 
epiwNtw;wg;gl;lJ?  
a. fhdpq; gpuG     b. vy;[pd; gpuG  
c. NkNah gpuG     d. ly;n`srp gpuG  
 

30.  Match the following and choose the correct answer from the codes given 
below:  

New Paper    Founder  
 A. Kesari    1. Lala Lajpat Rai  
 B. Mook Nayak   2. Annie Besant  
 C. New India    3. B.G. Tilak  
 D. Punjabi    4. Ambedkar  
  A B C D 
 a. 3 4 2 1  
 b. 2 4 3 1  
 c. 1 2 3 4 
 d. 4 3 2 1  

fPo;fhz;gtw;iw nghUj;Jf> rhpahd tpilia FwpaPLfspypUe;J Njh;e;njL.  
  gj;jphpf;if    njhlq;fpath;  
 A. Nfrhp    1. yhyh y[gjp uha;  

 B. %f;ehaf;   2. md;dp ngrd;l;  

 C. epA+ ,e;jpah   3. B.G. jpyfh;  
 D. gQ;rhgp    4. mk;Ngj;fh;  

A B C D 
 a. 3 4 2 1  
 b. 2 4 3 1  
 c. 1 2 3 4 
 d. 4 3 2 1  

 

MEDIEVAL 
 

31.  Who was defeated by Iltutmish in the battle of Tarain in January 1216? 
a. Nasir-ud-Qahacha     b. Tajuddin Yildiz 
c. Alimardan     d. Jalaluddin 
[dthp 1216-y; ele;j jnua;d; Nghhpy; ,y;̂ l;kp]hy; Njhw;fbf;fg;gl;lth; ahh;?  
a. e]pUjPd; Fthr;rh    b. jh[{jPd; ,y;b~;  
c. mypkh;jd;    d. [yhYjPd;  

 
32. Which of Iltutmish's adversaries was drowned in the Indus? 

a. Tajuddin Yildiz      b. Nasir-ud-Qahacha 
c. Aram shah         d. Ali Mardan 

 ,y;J}j;kp]pd; ve;j tpNuhjp rpe;J epjpapy; mkpo;j;jpf; nfhy;yg;gl;lhd;?  
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 a. jh[{jPd; ,y;b];   b. ehrPh;-cj;-Fthr;rh 
 c. Muk;~h     d. myp kh;jd 

 
GEOGRAPHY 

 
33. How many wildlife sanctuaries are present in India?  

a. 472     b. 482  c. 492     d. 502 
,e;jpahtpy; vj;jid td tpyq;F ruzhyaq;fs; cs;s?  
a. 472     b. 482  c. 492     d. 502 
 

34. Terra - Rossa soil is associated with 
a. River  b. Wind  c.Waves  d. Karst Region 
nlh;uh – Nuhrh kz; ,jDld; njhlh;GilaJ 

a. MWfs;    b. fhw;W   

c. miyfs;    d. Rz;zhk;G ghiw gpuNjrk;  
 

35. Which of the following is the highest volcanic mountain? 
a. Cotopaxi    b. Krakatova 
c. Stromboli     d. Vesuvius 
fPNo nfhLf;fg;gl;Ls;sitfSs; caukhd vhpkiy vJ? 
a. Nfhlhghf;]p   b. fpuf;fNlhth 
c. ];buhk;Nghypad;  d. ntRtpa];  

 
36. National Forest Policy - 1952 announced about ______ percent of the area 

under forest in the total geographical area. 
a. 33 percent b. 35 percent  c. 37 percent               d. 39 percent 
Njrpa tdf; nfhs;if 1952 nkhj;j epyg;gug;gpy; ______ rjtPjk; tdg; gug;ghf 
cs;sJ vd mwptpj;jJ.  

 a. 33 rjtPjk;  b. 35 rjtPjk; c. 37 rjtPjk; d. 39 rjtPjk;  
 
37. Which of the following landforms are produced by wind action? 

1. Barkhan    2. Mushroom rock 
3. Alluvial fans   4. Sand dunes 
a. 1 and 2 only   b. 2 and 3 only 
c. 1, 2 and 4 only   d. 2 and 4 only 
fPo;f;fz;l epyj;Njhw;wq;fspy; fhw;wpd; nra;ifahy; Njhw;Wtpf;fg;gLk; epyj; 
Njhw;wq;fs; ahit?  
1. gh;f;fhd;    2. fhshd; ghiw  
3. tz;ly; tprpwp   4. kzy; Fd;Wfs;  
a. 1 kw;Wk; 2 kl;Lk;   b. 2 kw;Wk; 3 kl;Lk;  
c. 1> 2 kw;Wk; 4 kl;Lk;   d. 2 kw;Wk; 4 kl;Lk; 
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GENERAL KNOWLEDGE 
 

38. Who was the 1st Chairman of AEC?  
a. Hamid A. Hussain    b. Homi. J. Bhabha 
c. Mohammad Khan    d. Ahamad Patel 
,e;jpa mZ rf;jpf; fofj;jpd; Kjy; jiyth; ahh;?  
a. `kpj; V. `{Nrd;   b. N`hkp J. ghgh 
c. Kfkj; fhd;    d. mfkJ gNly;  

 
39.  NRHM was launched in  

a. April 14, 2005    b. April 13, 2005 
c. April 11, 2005   d. April 12, 2005 
NRHM mwpKfg;gLj;jg;gl;l Mz;L  
a. Vg;uy; 14> 2005   b. Vg;uy; 13> 2005 
c. Vg;uy; 11> 2005   d. Vg;uy; 12> 2005  

 
40. The total number of Public  Sector Enterprises  (PSEs) had signed MOUs for 

the year 2008 - 09 were 
a. 120    b. 122   c. 125  d. 126 
2008 – 09 y; Ghpe;Jzh;T xg;ge;jq;fspy; ifnahg;gkpl;l nghJj;Jiw 
epWtdq;fs; vj;jid?  
a. 120    b. 122   c. 125  d. 126 
 

41. Who among the following was not a chairman of the National Commission for 
Minorities?  
a. Bhuta Singh     b. Tarlochan Singh 
c. Wajahat Habibullah         d. Naseem Ahmad 
fPo;f;fz;lth;fSs; Njrpa rpWghd;ikapdh; Mizaj;jpd; jiytuhf 
,y;yhjth; ahh;?  
a. G+l;lh rpq;    b. jh;Nyhrd; rpq;  
c. t[h`j; `gpGy;yh   d. erPk; mfkJ  

 
42. IDOP stands for 

a. Industrial Day of Organizations Policy  
b. International Day of Older Persons 
c. International Day of Ocean Policy 
d. Industry Defend of Old Program 
IDOP vd;gjd; tphpthf;fk; vd;d?  
a. Industrial Day of Organizations Policy  
b. International Day of Older Persons 
c. International Day of Ocean Policy 
d. Industry Defend of Old Program 



 

10 
 

43. On which day, Neil Armstrong and Buzz Aldrin walked on moon?  
a. July 21, 1968     b. July 21, 1969 
c. July 21, 1970    d. July 21, 1971 
ePy; Mk;];l;uhq; kw;Wk; G]; my;l;hpd; MfpNahh; re;jpudpy; fhy;gjpj;j ehs; vJ?  
a. 1968> [{iy 21   b. 1969> [{iy 21 
c. 1970> [{iy 21   d. 1971> [{iy 21  

 

44. Which year the world's biggest aircraft manufacture, the Seattle-based Boeing 
company was born? 
a. 1900  b. 1916  c. 1932    d. 1945 
cyfshtpa kpfg;nghpa> tpkhd cw;gj;jpahsuhd> rpahl;by; cs;s Nghapq; 
epWtdk; vg;NghJ cUthdJ?  
a. 1900  b. 1916  c. 1932    d. 1945 
 

45. Expansion of MTNL 
a. Mahatma Telephone Nigam Limited  
b. Mahanagar Telephone Nigam Limited 
c. Mahajan Telephone Nigam Limited 
d. Manoj Telephone Nigam Limited 

 MTNL – vd;gjd; tphpthf;fk;  

a. Mahatma Telephone Nigam Limited  
b. Mahanagar Telephone Nigam Limited 
c. Mahajan Telephone Nigam Limited 
d. Manoj Telephone Nigam Limited 
 

46. Match List I and List II. 
List I (Prime Minister)   List II (Year) 

A. Gulzarilal Nanda              1. 1966 
B. V.P. Singh                          2. 1989 
C. Charan Singh                     3. 1979  
D. I.K. Gujral                          4. 1997 

5. 1984  
  A B C D 
 a. 3 4 2 1  
 b. 4 3 2 1 
 c. 1 2 3 4 
 d. 1 4 5 2 
 gl;bay; I kw;Wk; gl;bay; II nghUj;Jf:  
  gl;bay; I     gl;bay; II  
  (gpujkh;)     (tUlk;)  
 A. Fy;[hhpyhy; ee;jh   1. 1966 
 B. V.P. rpq;     2. 1989 
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 C. ruz; rpq;    3. 1997 
 D. I.K. F[uhy;     4. 1984  
       5. 1984 
 

A B C D 
 a. 3 4 2 1  
 b. 4 3 2 1 
 c. 1 2 3 4 
 d. 1 4 5 2 
 
47. From when onwards the National Calendar was adopted?  

a. March 22, 1957    b. March 22, 1950 
c. March 21, 1947          d. March 21, 1945 

 vd;wpypUe;J Njrpa ehl;fhl;b Vw;Wf;nfhs;sg;gl;lJ?  
 a. 1957> khh;r; 22   b. 1950 khh;r; 22 
 c. 1947> khh;r; 21   d. 1945> khh;r; 21 
 
48.  How much of sea level is raising every year?  

a. 3.16 mm   b. 4.16 mm  c. 7.10 mm          d. 9.10 mm 
xt;nthU Mz;Lk; fly; kl;lk; vt;tsT mjpfhpf;fpwJ?  
a. 3.16 mm   b. 4.16 mm  c. 7.10 mm          d. 9.10 mm 
 

49. A 1000 kW super power medium wave  transmitter was commissioned at 
Mogra near Kolkata in the year 

a. 1969    b. 1970  c. 1972     d. 1975 
nfhy;fj;jh mUfpy; cs;s nkh ;̀uhtpy; 1000 kW cah; kpd;epiyaj;jpy; 
eLj;ju miy xspg;gug;G ve;j Mz;L epakpf;fg;gl;lJ?  
a. 1969    b. 1970  c. 1972     d. 1975 
 

50. The planet which is known as morning and evening star is  
a. Venus    b. Mars  c. Uranus       d. Earth 

 cjpf;Fk; kw;Wk; kiwAk; el;rj;jpuk; vd;wiof;fg;gLk; Nfhs;  
 a. nts;sp  b. nrt;tha;  c. ANud];  d. Gtp  
 

ECONOMICS 
 
51. Who was the Chairman of First Finance Commission of India? 

a. Sri K. Santhanam     b. Sri K.C. Neogy 
c. Sri A.K. Chanda       d. Sri K. Brahmananda Reddy 
,e;jpa Kjy; epjpf; FOtpd; jiyth; ahh;?  
a. jpU.Nf. re;jhdk;    b. jpU.Nf.rp. epNahfp  
c. jpU.V.Nf. re;jh   d. jpU.Nf. gpukhde;j nul;b  
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52. What is an All India inflation rates based on CPI during the year 2015-2016?     

a. 4.91   b. 5.93  c. 9.44  d. 9.90 
2015-2016 Mk; Mz;by; Efh;Nthh; tpiyf; FwpaPl;bd; gb (CPI) ,e;jpahtpd; 
gztPf;f tpfpjk;  
a. 4.91   b. 5.93  c. 9.44  d. 9.90 
 

53. Planning Commission was dissolved on 
a. 07 August, 2014  b. 17 August, 2014 
c. 27 August, 2014  d. 30 August, 2014 

 jpl;lf; FO fiyf;fg;gl;l ehs;  
 a. 07 Mf;];l;> 2014   b. 17 Mf];l;> 2014  
 c. 27 Mf;];l;> 2014   d. 30 Mf;];l;> 2014  
 
54. The Reserve Bank of India was established by the  

a. the Act of 1919     b. the Act of 1935 
c. Indian Independence Act of 1947 d. Indian constitution 

 ,e;jpa hprh;t; tq;fpia cUthf;fpaJ  
 a. 1919-Mk; Mz;Lr; rl;lk;    

b. 1935 Mk; Mz;Lr; rl;lk;  
 c. 1947-Mk; Mz;L ,e;jpa tpLjiyr; rl;lk;  
 d. ,e;jpa murpayikg;G  
 

 

CURRENT AFFAIRS 
 

55. Goods and Services Tax (GST) introduced in India on 
a. 8 November 2016  b. 1 July 2017 
c. 8 July 2017            d. 15 July 2017 
nghUl;fs; kw;Wk; gzpfs; thp (GST) ,e;jpahtpy; mwpKfg;gLj;jg;gl;l ehs;  
a. 8 etk;gh; 2016    b. 1 [_iy 2017  
c. 8 [_iy 2017    d. 15 [_iy 2017  
 

56. India-Afghan friendship dam or Salma Dam was built on the river  
a. Kunar   b. Hari Rud c. Pech    d. Kabul 
,e;jpah-Mg;fhdp];jhd; el;G miz my;yJ ry;kh miz ve;j ejpapd; 
FWf;Nf fl;lg;gl;Ls;sJ?  
a. Fdh;  b. `hp Uj;  c. gPr;  d. fhG+y;  

 
57. Which Indian cricket player awarded by Padma Bhushan award during the 

year 2018?  
a. Virat Kohli       b. Bhuvneshwar Kumar 
c. Mahendra Singh Dhoni      d. Rohit Sharma 
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,e;jpa fphpf;nfl; mzpapy; 2018-Mk; Mz;L gj;k G+rd; tpUJngw;w tPuh; ahh;?  
a. tpuhl; Nfhyp    b. GtNd];th; Fkhh;  
c. kNfe;jpu rpq; Njhdp   d. Nuhfpj; rh;kh  

 
58. In which location the Brazil lifts the 1st BRICS U-17 Football tournament 2016?  

a. Pune     b. Goa  c. Delhi  d. Mumbai 
gpNurpy; ntw;wp ngw;w gphpf;]; U-17 fhy;ge;J Nghl;bapd; Kjy; gjpg;G 2016-Mk; 
Mz;by; vq;F eilngw;wJ? 
a. G+Nd  b. Nfhth  c. nly;yp  d. Kk;ig  

 
59. What is the name of the E-enabled project launched by Indian Railways? 

a. Project Management and Internet Services (PMIS) 
b. Project Management and Information System (PMIS) 
c. Project for Railway and Information System (PRIS) 
d. Project for Railway and Internet Services (PRIS) 

 ,e;jpa ,uapy;Nt njhlq;fpa kpd; nray;ghl;L jpl;lj;jpd; ngah; vd;d?  
 a. jpl;l Nkyhz;ik kw;Wk; ,iza Nritfs;  
 b. jpl;l Nkyhz;ik kw;Wk; jfty; mikg;G  
 c. ,uapy;Nt kw;Wk; jfty; mikg;G jpl;lk;  
 d. ,uapy;Nt kw;Wk; ,iza NritfSf;fhd jpl;lk;  
 
60.  To  identify  the  aim  and  purpose  of the  scheme  "Deen  Dayal Upadhyaya  

Grameen Kaushalya Yojana" from the following and choose the correct 
answer. 
1. To create an environment conducive for industrial development. 
2. To alleviate urban and rural poverty through enhancement of    

       livelihood opportunities. 
3. To connect every Indian through technology. 
4. To train 10 lakh rural youths for jobs in three years. 
a.  4 only   b. 1 and 3 only c.  1 only     d. 2 and 4 only 
“jPd; jahy; cghj;aha fpuhk nfsry;a Nah[dh” vd;Dk; jpl;lj;jpd; Nehf;fk; 
vd;d vd;gij fPo;fz;ltw;wpy; rhpahdij Fwpg;gpLf.  
1. njhopy; tsh;r;rpf;F cfe;j #o;epiyia cUthf;Fjy;  
2. fpuhk kw;Wk; efh;g;Gw Vo;ik epiyia Nghf;fp rpwe;j tho;thjhuj;jpw;fhd 
topKiwia cUthf;Fjy;  

3. xt;nthU ,e;jpa FbkfidAk; njhopy;El;gj;jpy; ,izg;gJ  
4. %d;W tUlj;jpw;Fs; Fiwe;jJ gj;J yl;rk; ,isQh;fSf;F Ntiytha;g;G 
gapw;rp mspj;jy;  

a. 4 kl;Lk;  b. 1 kw;Wk; 2 kl;Lk;  c. 1 kl;Lk; d. 2 kw;Wk; 4 kl;Lk;  
 
86. When was the National Testing Agency established and by whom?  

a. Union Cabinet in November 2018  
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b. Union Cabinet in November 2017 
c. Union Cabinet in December 2017 
d. Union Cabinet in January 2018 

 Njrpa Nrhjid epWtdk; vg;nghOJ ahuhy; mikf;fg;gl;lJ? 
 a. kj;jpa mikr;ruitahy; etk;gh; 2018 cUthf;fg;gl;lJ 
 b. kj;jpa mikr;ruitahy; etk;gh; 2017 cUthf;fg;gl;lJ 
 c. kj;jpa mikr;ruitahy; brk;gh; 2017 cUthf;fg;gl;lJ 
 d. kj;jpa mikr;ruitahy; [dthp 2018 cUthf;fg;gl;lJ  
 
87.  Who was the Cabinet Secretary in 2017?  

a. Shri. Ajit Kumar Seth   b. Shri. Pradeep Kumar Sinha 
c. Shri. K.M. Chandrasekhar  d. Shri. B.K. Chaturvedi 

 2017 Mk; Mz;by; mikr;ruit (Nfgpdl;) nrayhsuhf ,Ue;jth; ahh;?  
 a. jpU. m[pj;Fkhh; Nrj;   b. jpU. gpujPg; Fkhh; rpd;̀ h 
 c. jpU. K.M. re;jpuNrfh;   d. jpU. B.K. rJh;Ntjp  
 
88. Global competitiveness report is published by 

a. World Bank 
b. International Monitory Fund  
c. World Economic Forum 
d. UNCTAD 
cyf Nghl;bj;jpwd; mwpf;ifia ntspapLgth;  
a. cyf tq;fp       

b. rh;tNjr ehza epjpak;  
c. cyf nghUshjhu kd;wk;    

d. th;j;jfk; kw;Wk; mgptpUj;jpf;fhd If;fpa ehLfs; khehL (UNCTAD) 
 

 

CHEMISTRY 
 
89. Ninhydrin oxidizes many amino acids and produce 

(i) Carbondioxide 
(ii) Ammonia and Aldehyde 
(iii) CO2 and H2O 
(iv) CO2, SO2 and H2O 

 a. i and ii are correct    b. i and iv are correct  
 c. iii and iv are correct    d. i is correct  

epd;i`l;hpd; ngUk;ghyhd mkpNdh mkpyq;fis Mf;]p[Ndw;wk; nra;J 
gpd;tUtdtw;iw jUfpwJ 
i. CO2  
ii. mk;Nkhdpah kw;Wk; My;bi`L 
iii. CO2 kw;Wk; H2O  



 

15 
 

iv. CO2, SO2 kw;Wk; H2O  
a. i kw;Wk; ii rhpahdJ   b. i kw;Wk; iv rhpahdJ  
c. iii kw;Wk; iv rhpahdJ  d. i rhpahdJ  
 

90. Positron was discovered by  
a. Anderson   b. Chadwick 
c. Rutherford   d. Bohr 
ghrpl;uhid fz;Lgpbj;jth; ahh;?  
a. Mz;lh;rd;  b. rhl;tpf;  c. &jh;/Nghh;L d. Nghh;  
 

91. The geometry of Ni(CO)4 is 
a. Square-planar   b. Tetrahedral 
c. Octahedral     d. Trigonal bipyramide 

 Ni(CO)4-d; tbtikg;G  
 a. rkjsk;    b. ehd;Kfp  
 c. vz;Kfp    d. Kf;Nfhz ,UgpukpL  
 
92.  DDT is an insecticide, which is prepared from  

a. Chlorobenzene + Trichloroacetone  
b. Chlorobenzene + Trichloroacetaldehyde 
c. Benzene + Trichloroacetone 
d. Benzene + Trichloroacetaldehyde 
DDT vd;w G+r;rpnfhy;ypahdJ> gpd;tUk; vtw;wpypUe;J jahhpf;fg;gLfpwJ?  

 a. FNshNuhngd;rPd; + l;iuFNshNuh mrpl;Nlhd;  
 b. FNshNuhngd;rPd;  + l;iuFNshNuh mrpl;lhy;bi`L 
 c. ngd;rPd; + l;iuFNshNu mrpl;Nlhd;  
 d. ngd;rPd; + l;iuFNshNuh mrpl;lhy;bi`L  

 
BIOLOGY 

 

93. What percentage of plants are endemic in India? 
a. 10%   b. 33%  c. 66%  d. 72% 
,e;jpahtpy; fhzg;gLk; G+f;Fk; jhtuq;fspd; rjtpfpjk; vt;sT?  
a. 10%   b. 33%  c. 66%  d. 72% 

 

ANCIENT 
 

 

94. In which context is the word 'Arya' used in the Vedic Period?  
a. Caste   b. Religion  c. Apostrophic Word    d. Tribe 
Ntj fhyj;jpy; ve;j mh;j;jj;jpy; ‘Mhpah;fs;’ vd;w thh;j;ij 
gad;gLj;jg;gl;lJ?  
a. [hjp b. kjk;  c. tpaf;fj;jf;f thh;j;ij  d. goq;Fb 
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95. In which Indus Valley city, the remains of a dockyard was found?  

a. Amari  b. Lothal  c. Mohenjodaro  d. Rangpur 
rpe;J rkntsp ehfhPf fhyj;jpd; fg;gy; gl;liw vr;rq;fs; vq;nfq;F 
fhzf;fpilj;jd?  
a. mkhp  b. Nyhjy;   c. nkhfQ;rjhNuh  d. uq;f;G+h;  

 
96.  Identify the correctly matched pairs among the following : 

1. First Buddhiest Council         -      Ajatashatru 
2. Second Buddhiest Council     -      Asoka 
3. Third Buddhiest Council        -       Kalasoka 
4. Fourth Buddhiest Council     -       Kaniska 
a. 1 and 4 only    b. 1 and 3 only 
c. 2 and 3 only     d. 3 and 4 only 
gpd;tUtdw;Ws; rhpahf nghUj;jg;gl;Ls;s ,izfis milahdk; fhl;Lf.  
1. Kjy; Gj;j khehL   - m[hjrj;U 
2. ,uz;lhk; Gj;j khehL - mNrhfh  
3. %d;whk; Gj;j khehL  - fhyNrhfh  
4. ehd;fhk; Gj;j khehL - fdp~;fh  
a. 1 kw;Wk; 4 kl;Lk;   b. 1 kw;Wk; 3 kl;Lk;  
c. 2 kw;Wk; 3 kl;Lk;   d. 3 kw;Wk; 4 kl;Lk;  

 
97. Match the following: 

A. Diwan-i- Ariz    1. Department of Slaves 
B. Diwan-i-Bandagan  2. Department of Military 
C. Diwan-i-Qaza-i -Mamalik  3. Department of Agriculture 
D. Diwan-i-Kohi    4. Department of Justice 
 A B C D 
a. 2 1 4 3  
b. 1 2 4 3  
c. 3 2 4 1  
d.  4 3 1 2  
rhpahdtw;iw nghUj;Jf:  
A. jpthd;-,-Mhp];   1. mbikfs; Jiw  

B. jpthd;-,-ge;jfd;   2. ,uhZtj; Jiw  

C. jpthd;-,-fhrh-,-kkhypf;  3. tptrhaj; Jiw  

D. jpthd;-,-Nfhfp   4. ePjpj;Jiw  

A B C D 
a. 2 1 4 3  
b. 1 2 4 3  
c. 3 2 4 1  
d.  4 3 1 2  
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98. What was the national emblem of the Gupta Empire?  

a. Lion  b. Peacock  c. Garuda   d. Elephant 
Fg;jg; Nguurpd; Njrpar; rpd;dk; vJ? 
a. rpq;fk;  b. kapy;  c. fUld;  d. ahid  
 

99.  The Gupta inscription found in Allahabad belongs to 
a. Chandragupta Maurya   b. Kumaragupta 
c. Samudragupta    d. Brahmagupta 
myfhghj;jpy; fpilf;fg; ngw;Ws;s Fg;j fy;ntl;Lfs; ahUila fhyj;ijr; 
Nrh;e;jJ?  
a. re;jpuFg;j nkshpah;   b. Fkhu Fg;jh;  
c. rKj;jpu Fg;jh;    d. gpuk;k Fg;jh;  
 

100. Bharatha, as a region, was first mentioned in the work of  
a. Patanjali   b. Panini  c. Pliny   d. Ptolemy 

 ghujk; vd;gij xU ,lkhf jd; gilg;Gfspy; Kjypy; Fwpg;gpl;lth; 
 a. gjQ;ryp  b. ghzpdp  c. gpspdp  d. njhnykp 
 
 

APTITUDE & MENTAL ABILITY 
61. Simplify : 

a. If 
4

5

a

b
= and 

15

16

b

c
= than 

2 2

2 2

c a

c a

−

−

is 

a. 
1

7
   b. 

7

25
   c. 

3

4
   d. 

6

5
 

4

5

a

b
= kw;Wk; 

15

16

b

c
= vdpy; 

2 2

2 2

c a

c a

−

−

vd;gJ  

a. 
1

7
   b. 

7

25
   c. 

3

4
   d. 

6

5
 

 
62. Find the radius of a  sector whose arc length  and area are 27.5 cm and 618.75 

cm2 respectively 
a. 35 cm  b. 25 cm  c. 45 cm   d. 55 cm 
tpy;ypd; ePsk; 27.5 nr.kP> gug;gsT 618.75 r.nr.kP nfhz;l tl;lf; Nfhzg; 
gFjpapd; Muk; fhz;.  
a. 35 nr.kP  b. 25 nr.kP  c. 45 nr.kP  d. 55 nr.kP 

 

63. If 15% of x = 20% of y then find x : y 
a. 3 : 4   b. 4 : 3  c. 17 : 16   d. 16 : 17 
x-d; 15%= y -d; 20% vdpy; x : y fhz;.  
a. 3 : 4   b. 4 : 3  c. 17 : 16   d. 16 : 17 
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64. If 
9

7

a

b
=  then 

a b

b b

−

+

=  

a. 
1

8
   b. 8   c. 

2

7
   d. 

9

5
 

9

7

a

b
= vdpy; 

a b

b b

−

+

= 

a. 
1

8
   b. 8   c. 

2

7
   d. 

9

5
 

 
65. How many diagonals are there in a polygon of 15 sides? 

a. 30   b. 70  c. 120   d. 90 
gf;fq;fs; nfhz;l gy Nfhzj;jpw;F vj;jid %iytpl;lq;fs; cs;sd?  
a. 30   b. 70  c. 120   d. 90 
 

66. Greatest Common Divisor of 924 and 105 is 
a. 21     b. 23  c. 24     d. 25 
924 kw;Wk; 105-,d; kPg;ngU nghJ tFj;jp 
a. 21     b. 23  c. 24     d. 25 
 

67. The L.C.M of three different numbers is 120. Which of the following cannot be 
their H.C.F.?  
a. 8    b. 12   c. 24      d. 35 
%d;W ntt;Ntwhd vz;fspd; kP.rp.k 120 vdpy; fPo;f;fz;ltw;Ws; vJ 
mt;ntz;fspd; kP.ngh.t my;y?  
a. 8    b. 12   c. 24      d. 35 

 
68. Given below are two series with specific pattern 

 
 
 

What will come in the plate of (e)?  
a. 173   b. 153   c. 171   d. 151 
fPNo nfhLf;fg;gl;Ls;s> Fwpg;gpl;l cj;jpfSld; $ba ,U njhlh;fspy;> (e)-d; 
kjpg;G fhz;f. 
 
 
 
 
a. 8    b. 12   c. 24      d. 35 

 
69. The sides of the triangle are in the ratio 3:4:5. The measure of the largest angle 

of the triangle is 
a. 60°     b. 75°   c. 120°     d. 150° 

7  13  29  53  113  217 
5  a. b. c. d. (e) 

7  13  29  53  113  217 
5  a. b. c. d. (e) 
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xU Kf;Nfhzj;jpd; gf;fq;fs; 3 : 4 : 5 vd;w tpfpjj;jpy; cs;sJ vdpy; mjd; 
kpfg;nghpa Nfhzj;jpd; msT ahJ?  
a. 60°     b. 75°   c. 120°     d. 150° 

 
70. A certain sum of money amounts to ì 8,880 in 6 years and ì 7,920 in 4 years 

respectively. Then its principal is 
a. ì 7,500   b. ìììì 6,000  c. ì 8,000      d. ì 4,530 
xU Fwpg;gpl;l mryhdJ 6 Mz;Lfspy; ì 8,880 MfTk;> 4 Mz;Lfspy; 7>920 
MfTk; khWfpwJ mry; vd;gJ  
a. ì  7,500  b. ì 6,000  c. ì 8,000  d. ì 4,530 

 
71.  A person gets Rs. 50,000 (Fifty thousand) as loan with interest rate 4% p.a. 

from a bank. If the interest is calculated year wise, then the compound 
interest, after two years, is 
a. 4,000   b. 2,000  c. 2,080      d. 4,080 
xUth; Mz;L tl;b 4% vd &. 50>000 (Ik;gjhapuk;) tq;fpapypUe;J fldhf 
ngWfpwhh;. Mz;Lf;nfhU Kiw tl;b fzf;fpl;lhy;> ,uz;L Mz;Lfs; fopj;J 
mth; fl;l Ntz;ba $l;L tl;bahdJ  
a. 4,000   b. 2,000  c. 2,080      d. 4,080 
 

72. What percent is 15 paise of 2 rupees 70 paise? 

a. 5%    b. 
1

5 %
9

%  c. 5-%      d. 5-% 

2 &gha; 70 igrhtpy; 15 igrh vj;jid rjtPjk;?  

a. 5%    b. 
1

5 %
9

%  c. 5-%      d. 5-% 

73. Sanjay bought a bicycle for Rs. 5,000. He sold it for Rs. 600 less after two years. 
Find the loss percentage. 
a. 10%    b. 14%  c. 8%     d. 12% 
rQ;ra; kpjp tz;bia &.5>000 f;F thq;fpdhh;. ,uz;L tUlq;fSf;Fg; gpwF & 
600 Fiwj;J tpw;whh;. vdpy; el;l rjtPjj;ijf; fhz;.  
a. 10%    b. 14%  c. 8%     d. 12% 

 
74. 15% of 578 + 22.5% of 644 = ? 

a. 231.4  b. 231.6  c. 231.8    d. 233.6 
578 y; 15% + 644 y; 22.5% =?  
a. 231.4  b. 231.6  c. 231.8    d. 233.6 
 

75. If x = 2 + 3  , then the value of x + 
1

x
 is x 

x = 2 + 3  vdpy; x + 
1

x
d; kjpg;G  

a. 2 2   b. 4  c. 2   d. 2 3  
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76.  Calculate the perimeter of a quadrant of a circle of radius 21 cm.  

a. 65 cm    b. 75 cm  c. 44 cm   d.    88 cm 
21 nr.kP MuKs;s fhy;tl;lg; gFjpapd; Rw;wsT fhz;.  
a. 65 nr.kP  b. 75 nr.kP  c. 44 nr.kP  d. 88 nr.kP  
 

77. Find the value of 55 × 56 
a. 3800      b. 3050  c. 3080           d. 8030 
kjpg;G fhz; 55 × 56  
a. 3800      b. 3050  c. 3080           d. 8030 
 

78. The ratio of two numbers is 3 : 4 and their L.C.M is 120. The sum of numbers is  
a. 70     b. 140   c. 35      d. 105 
,U vz;fspd; tpfpjk; 3 : 4 NkYk; mt;tpU vz;zpd; kPr;rpW kjpg;G 120 vdpy; 
mt;tpU vz;fspd; $l;Lnjhif vd;gJ?  
a. 70     b. 140   c. 35      d. 105 
 

79. Pipe A can fill a cistern in 4 hours while pipe B can empty it in 6 hours. If both 
of them are opened together at the same time when the tank is empty, the 
number of hours taken by them to fill it is 
a. 6       b. 8  c. 10   d. 12  
xU ePh;njhl;bia Foha; A topahf ePh; tpl;L epug;Gk; Neuj;jpy; 4 kzp Neuk; 
MfpwJ. mNj Neuj;jpy; Foha; B MdJ 6 kzp Neuj;jpy; njhl;bia ePh; 
,y;yhky; jpwe;J tpl;L fhyp nra;fpwJ. xNu Neuj;jpy; ,uz;LNk 
jpwf;fg;gl;lhy; njhl;bfhypahFk; tiu ,jpy; vj;jid kzp Neuk; njhl;bia 
epug;gg; gad;gLk; vd;gij $W.  
a. 6       b. 8  c. 10   d. 12  

 
80. A man bought an old bicycle for Rs. 1,250. He spent Rs. 250 on its repairs. He 

then sold it for Rs. 1,400. Find his gain or Loss percentage 
a. Loss 6.67% b. Gain 6.67% c. Loss 20%  d. Loss 6% 
xU egh; xU gioa kjp tz;bia & 1,250 f;F thq;fpdhh;. mjid rPh;gLj;j 
&. 250 nryT nra;jhh;. mth; mjid &. 1,400 f;F tpw;whh;. mtUila yhgk; 
my;yJ el;lj;ij fhz;. (rjtPj;jpy;)  
a. 6.67% el;lk;   b. 6.67% yhgk;  c. 20% el;lk;  d. 6% el;lk;  

 
81. Three dice are thrown simultaneously find the probability of getting Triplet in 

all three 
%d;W gfilfs; xNu Neuj;jpy; cUl;lg;gLfpd;wd. %d;wpYk; xNu vz; 
fpilf;f epfo;jfT fhz;f?  

a. 
1

16
   b. 

1

36
  c. 

1

216
  d. 

1

24
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82.  7 men can complete a work in 52 days. In how many days will 26 men finish 
the same work? 
a. 14   b. 35   c. 28    d. 26 
7 Ml;fs; xU Ntiyia 52 ehl;fspy; nra;J Kbf;fpd;wdh;. mNj Ntiyia 
26 Ml;fs; vj;jid ehl;fspy; nra;J Kbg;ghh;fs;?  
a. 14   b. 35   c. 28    d. 26 

 
83. A man's wages were decreased by 50% and the reduced wages were increased 

by 50%. He has 
a. no profit and no loss   b. a loss of 0.25% 
c. a loss of 2.5%     d. a loss of 25% 
xUthpd; $yp 50% Fiwf;fg;gLfpwJ. gpd;dh;> Fiwf;fg;gl;l $ypapy; 50% 
mjpfhpf;fg;gLfpwJ vdpy; mtUf;F  
a. ,yhgKk; ,y;iy el;lKk; ,y;iy   b. 0.25% ehl;lk;  
c. 2.5% el;lk;      d. 25% el;lk;  
 

84.  What must be added to — to make it equal to x ? 

a. 
1

1

x

x

−

+

  b. 
1

1

x

x

+

−

 c. 
2

1x

x

+
  d. 

2
1x

x

−
 

cld; vijf; $l;bdhy; mjd; kjpg;G x vd fpilf;Fk;  

a. 
1

1

x

x

−

+

  b. 
1

1

x

x

+

−

 c. 
2

1x

x

+
  d. 

2
1x

x

−
 

 
85. The HCF and LCM of two numbers are 13 and 1989 respectively. If one of the 

number is 117, then determine the other 
a. 121  b. 131   c. 221   d. 231 
,uz;L vz;fspd; kP.ngh.t. (HCF) kw;Wk; kP.rp.k (LCM) Mfpait KiwNa 
13> 1989 vd;W cs;sJ. mjpy; xU vz;zpd; kjpg;G 117 vdpy; kw;nwhU 
vz;zpd; kjpg;G fhz;.  
a. 121  b. 131   c. 221   d. 231 

 


